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(1) 20

(2) 25

(3) 15
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By selling 33 m. Cloth, a shopkeeper earns profit equivalent to  
selling price of 11 m. find his profit percentage?



4



(1) Rs

1050

(2) Rs

417.50

(3) Rs 435 

(4) Rs

5



(1) 7 : 

5

(2) 7 : 

6

(3) 6 : 

5
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The marked price of a radio  is Rs 480. The 

shopkeeper allows a discount of 10% and still gains 

8% . If no discount is allowed, find his gain percent. 

एक रेडियो की डिडित कीमत 480 रुपये है। दुकानदार 10% 

की छूट देता है और अभी भी 8% लाभ कमाता है . यडद कोई

छूट ना दी जाती तो ,  लाभ प्रडतशतक्या होता ?


























